Vezna staza

o R
T 3 Rv=50.00 S 12
et Ik Tg=5.59 =+ 7
z 3 Rv=350.00 = 2 Th B di=-22.00%° ©
v=350. = 2 & U0%
o o Tg=11.74 g E B > 0 5 ymax=0.31
di=7.002 _ * T T ¥
Y:nax=—0.20 e e i o g S
+ +
1950.00 s o OI OI Bl
=700, e
1940.00 Tg=10.30 = | RE o
di=—10.00% gm v=250.00 —| Rv=30.00 7 i <)
1930.00 ymax=0.27 S Tg=9.18 Tg=7.45 =) o
o.|—£ di=-7.00% Rv=1000.00 di=30.00% [
1920.00 2 ymax=0.17 gu=:,] 6(5) g; ymax=-0.55 g
——— — ey i=3. o S
19710.00 R % W D W S 10647 R ymax=—0.14 o2
1900.00 BB s g L N <
' 2 It a0
1890.00 E——— Y in
1880.00
1870.00 158
31_36° i —
1860.00 ngl“{,,
1850.00 D 2500 @ 2500 ® 2500 ® 2500 ® 2500 ® 2500 @ 2500 @ 2500 ® 2500 D 2500 D 2500 @ 2500 @ 2500 @ 2500 @ 2500 @ 2500 €S
Nagibi SE—l1z SR \,%Z\ 23 \%0705"\5;'% \1725%5}2\ ot 0% 3 SH 88
g gmé g = ) S . 2B T 1085— ol 85 Tk
S 3 8 3 b 3 ¥ b2 3 Z 3 3 5 o 3 S
nivelete N 8 ﬁ S 5 3 =3 = 2 S S S 3 8 S g
8 & 2 2 2 @ 2 e 2 8 8 2 2 2 2 2 2
<2 S 3 S 5 8 o © 5 2 3 © N 2 s 5 S ?
[5S] N S N o3 N %] < - oS [Ye) N S oS %) I I
terena 2 5 5 S S S S S 8 8 8 8 8 8 8 8 S
[{s
Stocionaze kMO & 8 2 1 & 8 & , & 8 & s+ 8 8 B g
| | | | | | | @ | | | | | | | | N
R=50.00 o~ 25 o
3 E S R=500.00
Zakrivijenost 1/R Lp=46.89 Lp=23.787 Lk=72.89 Lp=9.48Lk=29.66 = Lp=85.61 | =500. | Lp=50.10
J SLk=27.45 3 R=500.00 [ © k=57.40 ©
< < R=250.00 g 13
+ + + +




